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For each picture, you will hear four short statements. Choose the statement that best describes what you see in the picture
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Il. You will hear a question followed by three responses. They WILL NOT be
printed in your test book. You are to choose the best response to each
question or statement.

Ill. You will hear some conversations between two people. The conversations
will not be printed in your test book. You will be asked to answer three
questions about what the speakers say in each conversation. You are to
choose the best answer to each question.

21. What does the man request?
(A) The woman'’s table.
(B) The woman'’s pen.
(C) The chairs near the woman.
(D) The menu on the table.

22. What does the woman offer the man?
(A) Her chair.
(B) The entire table.
(C) The seat at another table.
(D) Her name card.

23. What does the woman say she is doing?
(A) Working on a report.
(B) Trying to meet a deadline.
(C) Waiting for someone.
(D) Setting up a table for customers.

24. According to the man, what did the weatherman say?
(A) That a monsoon was approaching the town.
(B) That storms were starting to form outside of town.
(C) That a storm would blow over the city.
(D) That the weather would be clear.

25. What does the woman complain about?
(A) Bad traffic.
(B) Poor service.
(C) Poor visibility.
(D) Bad directions.

26. Why are the speakers meeting each other?
(A) For a conference.
(B) To go on a road trip.
(C) To do a weather experiment.
(D) For a family reunion.

27. What does the man say about Sandy?
(A) He thinks she is a favorite of the boss.
(B) He thinks she is imaginative.
(C) He thinks she is overbearing.
(D) He wishes she worked in a different department.

28. What did the woman just finish doing with Sandy?
(A) Calculating the payroll.
(B) Thinking up new ideas.
(C) Having lunch.
(D) Talking about the weather.

29. According to the man, what must be true to be promoted?
(A) You must be on time to work each day.
(B) You must work at the company for a long time.
(C) You must put in overtime every day.
(D) You must be a family member of the boss.

30. What does the letter say has changed about the trade show?
(A) The date.
(B) The floor plan.
(C) The number of people attending.
(D) The location.

31. What happened last year?
(A) The woman misplaced her program and got lost.
(B) The floor at the conference center hadn't been cleaned.
(C) The floor plan in the program was incorrect.
(D) Too many clients came to their booth.

32. What is said about the people who arrange the schedule?
(A) They are under a lot of pressure.
(B) They do not wear comfortable shoes.
(C) They should be fired.
(D) They are too inexperienced.

33. What does the woman want the man to do?
(A) Let her borrow some money.
(B) Accompany her to an event.
(C) Invest in some stocks.
(D) Arrange a meeting with her parents.

34. What does the woman say will happen if the man goes with her?
(A) He'll be sold shares of a company.
(B) He'll have the time of his life.
(C) He'll meet very interesting people.
(D) He'll learn how to make money.
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35. What does the man say about pyramid schemes?
(A) He thinks they are effective.
(B) He doesn’t understand how they work.
(C) He used to run one many years ago.
(D) He doesn't believe they work.

IV. You will hear several short talks. They will not be printed in your test book,
You will be asked to answer three questions about what the speaker says
in each short talk. You are to choose the best answer to each question.

36. What do the two Canadian companies manufacture?
(A) Fishing products.
(B) Boats.
(C) Outboard motors.
(D) Sporting goods.

37. When will the merger officially happen?
(A) December 1.~ (B) December 11.
(C) December 31. (D) January 1.

38. What happened a few weeks ago?
(A) Press releases about the merger were sent.
(B) Zoom’s CEO said there would be no merger.
(C) Rumors about the merger started.
(D) Press releases were received. !

39. Which level of fisherman was the speaker before the trip?
(A) Beginner.
(B) Intermediate.
(C) Professional.
(D) Expert.

40. How much of a discount is Freddy'’s offering?
(A) 10 percent off. (B) 20 percent off.
(C) 30 percent off. (D) 40 percent off.

41. Most likely, who is the speaker?
(A) A television actor.
(B) A satisfied customer,
(C) Freddy.
(D) Freddy’s competitor. _

42. Where is this announcement most likely being made?
(A) In the boarding area.
(B) On the plane.
(C) At the arrival gate.
(D) In the airport parking lot.

43. Which gate must BV22 passengers report to?
(A)19 (B)22 (C)90B (D) 19B

44. What will happen to passengers if they are late?
(A) They will have to pay an extra charge.
(B) They will lose their assigned seats.
(C) They will not be allowed on the airplane.
(D) They will need a permit.

45. What is the main topic of this speech?
(A) University enroliment in developed countries.
(B) The gap between the developed and developing world.
(C) Academic knowledge of graduate students.
(D) Universities in the developing world.

46. What does the speaker’s graph show?
(A) A financial gap.
(B)Adrop in university enrollment in the developing world.
(C) Adecline in developing economies.
(D) An increase in university enroliment in the developing world.

47. What is problematic about the top students of developing countries?
(A) They find jobs in developed countries.
(B) They want to return home after graduation.
(C) They do not graduate from university.
(D) They are not accepted into universities.

48. Where is this speech most likely taking place?
(A) On a plane.
(B) In a locker room.,
(C) In a classroom.
(D) At a sports banquet.

49. Why does the speaker think the crowd wants to see her team lose?
(A) The crowd doesn't like her.
(B) The speaker’s team is the home team.
(C) The speaker’s team is the visiting team,
(D) The crowd is full of other teams.

50. Which sport will be played?
(A) Basketball.
(B) Volleyball.
(C) Soccer,
(D) Baseball.
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